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SECTION - |
Gus -1
1. (a) Give geometrical representation of a differential

equation of first order and first degree. 2
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(b) Show that |W is the integrating factor of the
X

equation (x? + wmv dx —2xydy =0. Also find its

solution. 2.5

feagy f& Pﬁ&mﬂﬂ (x2 +y?) dx — 2xydy =0.
3 y yay
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2. (a) Solve the differential equation : 2

P (x+2y)+3p” (x+1) +(y+2x) p=0
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P (x+2y)+3p” (x+3) + (y+2x) p=0

2
(iv) Write down steps to find the equatio;

orthogonal trajectories in Cartesian co-ordinat
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(v) What are auxiliary equations ?
Reb FHIBROT g7 § ?
(vi) Define integrating factor.
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